#### ROSATI, SCHULTZ, JOPPICH & AMTSBUECHLER, P.C. 27555 Executive Drive, Suite 250 Farmington Hills, MI 48331 (248) 489-4100 Tax ID# 38-3107356

#### March 13, 2024

,

City of Grosse Pointe Woods		
Attn: Frank Schulte, City Administrator	Invoice #	1081052
20025 Mack Plaza		
Grosse Pointe Woods, MI 48236		

In Reference To: General Counsel

Professional Services Rendered Through February 29, 2024

	Hrs/Rate	Amount
City Council		
2/5/2024 DAW Attend City Council meeting	0.40 \$145.00/hr	58.00
2/12/2024 DAW Attend Council meeting	0.10 \$145.00/hr	14.50
SUBTOTAL:	[ 0.50	72.50]
General Administration		
2/1/2024 DAW Receipt/review correspondence from Clerk and from Council member Vaughn regarding Election Commission meeting on Feb. 12; Correspondence in response	0.30 \$145.00/hr	43.50
DAW Receipt/review correspondence from Clerk regarding Election Commission meeting on Feb. 12 at 6pm; Correspondence in response	0.20 \$145.00/hr	29.00

# RECEIVED

MAR 1 4 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

Rosati, Schultz, Joppich & Amtsbuechler, P.C.

Page 2

٢

		Hrs/Rate	Amount
2/1/2024 DAW	Receipt/review correspondence from Clerk and Council member Vaughn confirming Election Commission meeting on Feb. 12	0.20 \$145.00/hr	29.00
2/2/2024 DAW	Receipt/review correspondence from Attorney Zalewski regarding hearing this morning on Lint v GPW preliminary injunction request	0.30 \$145.00/hr	43.50
DAW	Receipt/review correspondence from Clerk with link to agenda and packet for the City Council meeting on Feb 5, 2024; Review packet	0.80 \$145.00/hr	116.00
DAW	Receipt/review correspondence from Clerk regarding objection to costs for a Freedom of Information Act request from Ms. Szymanski; Correspondence in response	0.40 \$145.00/hr	58.00
2/5/2024 DAW	Receipt/review of two correspondences from City Clerk with Freedom of Information Act request, extension and cost estimate sheet; Review and draft correspondence in response for the Clerk	1.90 \$145.00/hr	275.50
2/6/2024 DAW	Receipt/review correspondence from Endo International, LLC, a manufacturer of opioids, to Grosse Pointe Woods concerning casting a ballot whether to accept a proposed bankruptcy reorganization plan; Correspondence to J. Shortley; Correspondence to City Administrator	0.70 \$145.00/hr	101.50
DAW	Telephone conference with City Administrator regarding damage claim at 2082 Vernier; Receipt/review correspondence from City Administrator with numerous email correspondences requesting payment; Correspondence in response	1.20 \$145.00/hr	174.00
DAW	Receipt/review correspondence from Assistant City Administrator with meeting minutes from Planning Commission and City Council meetings concerning structures in front yard setbacks	0.70 \$145.00/hr	101.50

Page 3

			Hrs/Rate	Amount
2/7/2024	DAW	Receipt/review of correspondence (2) from Clerk regarding Freedom of Information Act cost itemization issue; Receipt/review correspondence from Ms. Gula; Review attorney General Opinion No. 7172, March 17, 2005	0.30 \$145.00/hr	43.50
]	DAW	Receipt/review correspondence from Attorney Zalewski with attached correspondence from Ms. Lint's attorney; Receipt/review correspondence in response from City Administrator	0.40 \$145.00/hr	58.00
I	DAW	Receipt/review correspondence from City Administrator regarding draft response to claim for damages at 2082 Vernier; Correspondence in response	0.20 \$145.00/hr	29.00
2/8/2024 I	DAW	Receipt/review correspondence from City Administrator that Attorney Tomlinson will prepare the ordinance amendment regarding dumpsters and trailers	0.20 \$145.00/hr	29.00
I	DAW	Preparation of draft ordinance amendment regarding mini-libraries in residential front yards; Correspondence to City Administrator with draft ordinance amendment; Telephone conference with City Administrator	2.20 \$145.00/hr	319.00
2/9/2024 I	DAW	Receipt/review correspondence from Clerk with agenda and packet for 2/12/24 Council meeting	0.30 \$145.00/hr	43.50
Γ	DAW	Telephone conference with City Administrator and Clerk regarding Freedom of Information Act CC 24-02 cancellation	0.30 \$145.00/hr	43.50
2/12/2024 E	DAW	Attend Election Commission meeting	0.70 \$145.00/hr	101.50
2/13/2024 E		Receipt/review correspondence from Clerk with summary of Council action for Feb. 5 and 12 meetings	0.30 \$145.00/hr	43.50
2/20/2024 E		Receipt/review correspondence from Engineer with Torrey Road pump station generator contract for review; Rev and approve contract	1.00 \$145.00/hr	145.00

Page 4

		Hrs/Rate	Amount
2/22/2024 DAW	Receipt/review correspondence from Public Safety Director with questions regarding the use of National Opioid Settlement Funds for a van for the Special Response Team; Research National Opioid Settlement documents; Correspondence in response	1.20 \$145.00/hr	174.00
DAW	Receipt/review correspondence from Engineer with completed Torrey Road Pump Station contract	0.20 \$145.00/hr	29.00
2/23/2024 DAW	Receipt/review correspondence from Public Safety Director and J. Shortley regarding use of non-opioid remediation funds (15% of settlement proceeds); Further research of settlement documents; Correspondence to Public Safety Director	1.30 \$145.00/hr	188.50
2/26/2024 DAW	Receipt/review correspondence from Public Safety Director with proposed contract for Eastern Wayne County Inter-Agency Special Response Team; Review contract; Correspondence to Public Safety Director with questions and concerns	1.80 \$145.00/hr	261.00
DAW	Receipt/review correspondence from Engineer with Water Service Material Investigation Contract; Review contract; Correspondence to Engineer requesting insurance certificate to be attached with the contract	1.30 \$145.00/hr	188.50
2/27/2024 DAW	Receipt/review correspondence from Public Safety Director regarding my correspondence concerning the SRT contract; Correspondence in response	0.20 \$145.00/hr	29.00
DAW	Receipt/review correspondence from Engineer with Certificate of Insurance and correspondence from insurance agent regarding the Water Service Material Investigation contract; Review documents; Correspondence in response and approve contract	0.40 \$145.00/hr	58.00
2/28/2024 DAW	Research regarding county authority to control or dictate dog licensing processes in cities and MCL 287.266	0.80 \$145.00/hr	116.00

		Hrs/Rate	Amount
2/28/2024 DAW	Telephone conference with City Administrator regarding compensation for a quota license in escrow; Correspondence to L. Hamameh with my opinion and asking for confirmation	0.50 \$145.00/hr	72.50
2/29/2024 DAW	Telephone conference with City Administrator regarding business owner's complaint about diminished business due to Vernier intersection construction, and discussion regarding quota liquor license issue	0.20 \$145.00/hr	29.00
DAW	Receipt/review correspondence from Chief Rogers regarding questions about the proposed Eastern Wayne County SRT agreement; Further review of correspondence and suggested edits to Chief Rogers; Receipt/review of correspondence in response from Chief Rogers; Correspondence in response	0.90 \$145.00/hr	130.50
DAW	Receipt/review correspondence from City Administrator regarding business owner's request for ARPA funding due to construction at Vernier/Mack Avenues; Review attachments provided and draft response for City Administrator's consideration	0.90 \$145.00/hr	130.50
SUBT	OTAL:	[ 22.30	3,233.50]
Litigat	ion		
1/4/2024 MJZ	Lint 2nd file: Receipt/review of Plaintiff's Substitution of Counsel	0.10 \$155.00/hr	15.50
1/5/2024 MJZ	Lint 2nd file: Receipt/review of email from City Clerk regarding communication received from Plaintiff's counsel	0.10 \$155.00/hr	15.50
MJZ	Lint 2nd file: Preparation of email to City Clerk regarding Certified Record contents and transcript	0.10 \$155.00/hr	15.50
1/10/2024 MJZ	Lint 2nd file: Begin preparation of Certified Record on Appeal	2.80 \$155.00/hr	434.00

Page 6

		Hrs/Rate	Amount
1/10/2024 MJZ	Lint 2nd file: Preparation of email to City Clerk regarding additional certified record contents	0.10 \$155.00/hr	15.50
1/11/2024 MJZ	Lint 2nd file: Continued preparation of Certified Record on Appeal	1.00 \$155.00/hr	155.00
MJZ	Lint 2nd file: Multiple emails to and from City Clerk regarding Certified Record	0.20 \$155.00/hr	31.00
1/12/2024 MJZ	Lint 2nd file: Receipt/review of Notice of Filing Transcript	0.10 \$155.00/hr	15.50
1/29/2024 MJZ	Lint 2nd file: Receipt/review of Appeal Scheduling Order	0.10 \$155.00/hr	15.50
1/31/2024 MJZ	Lint 2nd file: Preparation of email to Adjuster Schroller regarding case status/coverage	0.10 \$155.00/hr	15.50
MJZ	Lint 2nd file: Receipt/review of email from Plaintiff's counsel regarding anticipated Motion to Expand the Record	0.10 \$155.00/hr	15.50
2/2/2024 MJZ	Lint 2nd file: Receipt/review of Re-Notice of Hearing on Plaintiffs' Motion to Expand the Record on Appeal	0.10 \$155.00/hr	15.50
2/6/2024 MJZ	Lint 2nd file: Receipt/review of Plaintiffs-Appellants' Motion to Supplement the Record	0.30 \$155.00/hr	46.50
2/13/2024 MJZ	Lint 2nd file: Preparation of Response Opposing Motion to Supplement the Record	2.50 \$155.00/hr	387.50
MJZ	Lint 2nd file: Review/analyze court rule and case law cited by Plaintiffs regarding judicial notice of court records to facilitate response to Plaintiffs' Motion to Supplement Certified Record of Appeal	0.70 \$155.00/hr	108.50
MJZ	Lint 2nd file: Email to City Clerk regarding supplementation of certified record	0.10 \$155.00/hr	15.50
2/14/2024 MJZ	Lint 2nd file: Receipt/review of Re-Notice of Hearing regarding Appellants' Motion to Supplement Record	0.10 \$155.00/hr	15.50

.

		Hrs/Rate	Amount
2/15/2024 MJZ	Lint 2nd file: Receipt/review of email and additional documents from City Clerk to supplement Certified Record of Appeal	0.10 \$155.00/hr	15.50
2/16/2024 MJZ	Lint 2nd file: Preparation for hearing on Plaintiffs/Appellants' Motion to Supplement Certified Record of Appeal	0.40 \$155.00/hr	62.00
MJZ	Lint 2nd file: Email to City Clerk regarding additional supplemental record items	0.10 \$155.00/hr	15.50
MJZ	Lint 2nd file: Preparation of supplemented record materials for Certified Record of Appeal	0.20 \$155.00/hr	31.00
MJZ	Lint 2nd file: Email to opposing counsel regarding supplemented record	0.10 \$155.00/hr	15.50
MJZ	Lint 2nd file: Attend Zoom hearing on Plaintiffs/Appellants' Motion to Supplement Certified Record of Appeal	0.40 \$155.00/hr	62.00
MJZ	Lint 2nd file: Receipt/review of Appearance of Counsel for interested property owners Avouris	0.10 \$155.00/hr	15.50
MJZ	Lint 2nd file: Receipt/review of Re-Notice of Hearing on Plaintiffs/Appellants' Motion to Supplement Certified Record of Appeal	0.10 \$155.00/hr	15.50
2/19/2024 MJZ	Lint 2nd file: Receipt/review of email from opposing counsel regarding claimed additional record items to be supplemented	0.10 \$155.00/hr	15.50
2/20/2024 MJZ	Lint 2nd file: Receipt/review of email from opposing counsel regarding continued hearing on Motion to Supplement the Record	0.10 \$155.00/hr	15.50
2/22/2024 MJZ	Lint 2nd file: Multiple emails to and from opposing counsel regarding resolving Motion to Supplement the Certified Record	0.30 \$155.00/hr	46.50

		Hrs/Rate	Amount
2/22/2024 MJZ	Lint 2nd file: Prepare for continued hearing on Motion for Preliminary Injunction and Motion to Supplement Certified Record of Appeal with reference to on going discussions with Plaintiffs'-Appellants' counsel about certified record and additional documents proposed by Appellants' counsel	0.50 \$155.00/hr	77.50
MJZ	Lint 2nd file: Attend continued hearing on Plaintiff's Motion to Supplement the Certified Record	0.30 \$155.00/hr	46.50
2/23/2024 MJZ	Lint 2nd file: Review of additional potential supplemental record materials presented after hearing on Motion to Supplement Record	0.40 \$155.00/hr	62.00
MJZ	Lint 2nd file: Receipt/review of emails to and from Plaintiffs' counsel regarding supplementation of Certified Record on Appeal	0.20 \$155.00/hr	31.00
2/26/2024 MJZ	Lint 2nd file: Preparation of email to opposing counsel regarding Stipulation to Supplement Record on Appeal	0.20 \$155.00/hr	31.00
MJZ	Lint 2nd file: Receipt/review of proposed Stipulated Order and Supplemental Certified Record contents	0.20 \$155.00/hr	31.00
2/27/2024 MJZ	Lint 2nd file: Receipt/review of email from opposing counsel regarding finalization of Stipulated Supplemental Record of Appeal	0.10 \$155.00/hr	15.50
MJZ	Lint 2nd file: Receipt/review of as-filed Stipulated Supplemental Record of Appeal	0.10 \$155.00/hr	15.50
2/29/2024 MJZ	Lint 2nd file: Receipt/review correspondence from opposing counsel	0.10 \$155.00/hr	15.50
SUBT	'OTAL:	[ 12.70	1,968.50]
For pr	ofessional services rendered	35.50	\$5,274.50

Additional charges:

	Qty/Price	Amount
City Council		
2/5/2024 Attorney Mileage - Council Meeting [D. Walling]	73 0.67	48.91
2/12/2024 Attorney Mileage - Election Commission and Council meetings [D. Walling]	73 0.67	48.91
SUBTOTAL:		[ 97.82]
Total costs		\$97.82
Total amount of this bill	_	\$5,372.32
Previous balance		\$3,433.85
3/7/2024 Payment - thank you. Check No. 69017		(\$3,433.85)
Balance due	_	\$5,372.32

Please include your Invoice Number on your payment. Thank you.

Attorney Summary		
Name	Hours	Rate
Debra A. Walling, Associate	22.80	145.00
Matthew J. Zalewski, Shareholder	12.70	155.00